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2. . In the following nuclear reaction the 2. ~ .u~c1i\c:a ~ .q aqmr ~ I

Physics
(Q. No. 01 to SO)

1. According to Biot - Savart law the

magnetic field dB produced by a

current element ill at a distance, r'
assuming that current i flows through
the element, is .

(A)

--0

fxdl
4nIloi--3-

r

(B)

--0

Iloi fxdl
--2-
4n r

(e)

-+

(D) 4
. dl.r

nllol-3r

missing memberis n ~ p +e - +?
(A). pion
(B) muon
(e) nutrino
(D) positron

3. The gravitational force on a body of
mass m at a distance r from the center
of the Earth for r <R , where R is the
radius of Earth, is proportional to:

(A) (R-r)
1

(B) (R-r)
(C) r

1
(D) -

r

Set-ATUHAl14 -3-

1.

"'I'd." ••
(~.lIi. 01 W SO)

G(t4)-~ .q;f.p.m ~ ill~.q;
~ ~ fcrga-QRr i Slqlfid 11~
11, .q; lfiR1Jt r cttt 1R ,!kl4ilc:a ~ dB ~

(A)

-+

fxdl
4nlloi-3-

r

(B)

--+

Iloi fxdl
4nT

(e)

(D)

-+

. dl.f
4nllol-3

r

n~p+e- +?
(A) ~3i;r
(B) ~3i;r
(e) ~
(D) Q~~T•••

3. m ~ql.'" .q;", '*r~.q;~ ~r ~
1R~~ r-cR, R ~ciit~~, 'q{

~ cm;n !!(C\(iftc:a iR't ~qljQltft~ ,

(A) (R-r)

1
(B) (R-r)
(C) r

1
(D) -

r



4. The focal length of a glass lens 4. CFifef ~ ~ m:r (3iqen;'1 iCh = 1.5) cift
(refractive index = 1.5) is 20 em in air.

~.q ~ ~ 20 em ~ I ~ 3iQqd'1iChWhat will be its focal length in a liquid
4

5 ~~.q ~ ~~ (ftll~?of refractive index = - .
4

(A) 40 em
(A) 40 em

(B) 10 cm (B) 10 em

(C) 25 em (C) 25 em

(D) 50 cm (D) 50 em

5. As shown in the fig, a circular metallic 5. ftr;r.q~~, ~0.1 m~~
wire of radius 0.1 m is placed in an unt'CfiTqttlEhI( nR ~ ik*fih4 ~ B ~
uniform magnetic field B that is ~~~ 3iT~~, .q~~ I ik*4il4
directed out of the page. The field ~ cift (ftm B (mt -q)~ t (~
magnitude (in tesla) depends on time t .q)tR.~~~t I
(in second) as B=2t3 +3t2 +14t+l0.

B=2t3 +3t2 +14t+l0
An ideal battery of emfv is connected

v~-cmcn1Wf~~~a~bbetween points a and bofthe wire such
that at t = 2s the net current is zero. ~3U ~ ~ ~"SICfiR ~ ~ ~ fi6
The magnitude and direction of emfv t = 2~. tRY' um~~ ~t I
IS : ~-~ 1Wfv 'CfiTlrr.t ~ ~ t .1

I I
~ ~ ~ 3rnn ~q¥fih4 ~ BUniform magnetic field B

directed out of the page

(A) 2.57 v; ato b
(B) 2.57 v; b to a
(C) 1.57 v; a to b
(D) 1.57 v, b to a

(A) 2.57v;a~b
(B) 2.57 v ; b ~ a
(C) 1.57v;a~b
(D) 1.57 v, b~a
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6. An object is placed infront of a 6. ~ ~ ~ ~ $ ~-mtR SlCflI~ICfI
concave lens between the optical ~ :iR ~ ~ ~ wJTt I SlfdMktt
centre and the focus. The image is

(A) . ~1f?lPeiCfl,~-am
(A) Real, diminished

(B) ~1f?lPc4Cf1,~ -a~
(B) Real, enlarged

(C) Virtual, diminished (C) CflI("4f.:iCfl, ~ -am
(D) Virtual, enlarged (D) CflI("4f.:iCfl, ~ -a~

7. The minority current in a p-njunction ~ p-n mu (~) .q~("4ti(§tlCfl urn7.
depends strongly on : ~ ~ f.:tm cn«ft t I
(A) concentration of p-type impurity (A) p - ~ciit filMI~a~~tR
(B) concentration ofn-type impurity (B) n - ~ ciit filHI~a~ ~ tR
(C) size of the depletion zone (C) 3tCf~ ~ ~ 3tlcnR tR
(D) temperature of the junction (D) mu (GiCWI~)~ (lIqql~ tR

Irrthe wheat stone bridge circuit shown 8. ~ .q~ og1aR1~ ~ ~.q 2.5128.
in the figure a 2.50 resistance is cnr ~ A 3ffi B ~3U ~.~~
connected between the points A and B. ~ ~ I ~ 2.5~ ~u .qGtt!~~IHl
The magnitude and the direction of the umcnr1{R~~~:~ I
current through the 2.50 resistance "'
IS :

tOV
tOV (A) O.5A;AtoB

(A) O.5A;AtoB (B) O.5A;BtoA
(B) O.5A;BtoA (C) l.OA;AtoB
(C) l.OA;AtoB

(D) l.OA;BtoA
(D) l.OA;BtoA
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A one meter long wire AB of uniform
cross-section is connected to an ideal
battery of potential V volt and zero
internal resistance as shown in the
figure. If the potential at point e, 20
em from the end A is 1.2V; the value of
voltage V and the potential gradient on
the wire AB are respectively:

c
+A B

9. ~'5f ~ ~'fTT{ ~ 1m ~Gfl, ~

~ (fR.~ ~ tGtt ~

cnT 3'l1~rhfi~U ~ ~. ~ ~
~ V ~ ~ '\iIlsr '\iffin~ I~ e~ l.R ~
A lJR ~ 20 em ~ ~ l.R fcrqq 1.2V ~ 'ffi
~~~ VcnTlWf ~OR AB l.R
fcrqq $IC40Idl~: ~ I

A
c
+ B

~20cm~

L..-.---t' IJ-__ --II
I 1

V

(A) 15V; 15Vim
(B) 1.5V; -15 Vim
(e) 1.5V; 1.5Vim
(D) 15V ;-1.5 Vim

in Within the limits of Hooke's law,which
of the following relation is true :

(A) stress = modulus of elasticity x
strain

(B) strain = modulus of elasticity x
stress

(e) modulus of elasticity = stress x
strain

(D) modulus of elasticity =

1
stress x strain

+-20cm~

L..-_......•1 11-- _
I 1

V

(A) 15V; 15Vim
(B) 1.5V;-15V/m

(e) 1.5V; 1.5Vim
(D) 15V ;-1.5 Vim

10. ~~~cfitlft1n~~, ~.q~
~m~~~1

(A) $IRiat<"l = ~ ~ x¥
(B) ~ = ~~ x $IRiatH

(e) ~~ = $IR1atH x¥

. 1
(D) ~~=~x~
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11. The product of the total mass of a
systeH1;~n~lthe velocity of the center
of.mass.is.:
(A) ,tb~..angular momentum of the

sy~tem
"/ .

(B) the linear momentum of the
system

(C) the total energy of the system
(D) the potential energy of the system

12. The total energy of an isolated
system:
(A) can not change
(B) can only increase
(C) can only decrease
(D) may increase or decrease

depending the nature of the
system

13. The distance - time graph for uniformly
accelerated motion is :
(A) hyperbola
(B) parabola
(C) circle
(D) straight line

14. A particle of mass misplaced at the
highest point of a frictional hemi
spherical surface. If the particle is
allowed to slide down, the angular.
displacement from the vertical atwhich
it will leave the surface will be -

(A) cos-l (}i)
(B) COS-l(~)
(C) cos-1 (%)
(D) sin-l(~)

11. ~ ~ ~ ~ ~64ql'1 3ffi ~ ~
~oqql'1-~ ~ ~ cnr ~-tf)M ~ I

(A) ~ cnr q))ofiil ~

(B) ~cnr~-~

(C) ~ cift ~ '3i\iri

(D) ~ cift ~ '3i\iri

12~ ~ Rn••ffld ~ cift ~ '3i\iri .
(A) .~~~

(B) ~~~~

(C) ~tR:~~

(D) ~~~~~~'!ITtR:

~~I

13. 'tCfi~ql'1 ~l1ffi'tfiT~-~ ~~ I
(A) 3'tkf4:(q(Ofil
(B) 4:(q(Ofil

(C) ~
(D) ~~

14. m ~oqql'1 ~ ~ Cfi1lTen) ~ qreiol:(Qd

~ ~ ~ '3'6:4dq ~ ~ WI lTm

~ I~Cfi1lTen) fQ:i~(Of~~'ifl?HtT~

~ Shlofiil ~; \ifGf ~, ~ tFil ~

~,~-

(A) cos-l (}i)
(B) cos-l (~)

(C) cos-l(%)
(D) sin-l (~)
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5. A nucleus zXA under goes beta

negative (~-) decay. Which of the

following does not change in the decay?
(A) Z

(B) X

(C) A
(D) (A-Z)

6. The decay constant X, the halflife T.!.
2

and the mean life r of a radioactive
nucleus are related as :

(A)
1

't=-;T} =0.693XX -2

15. zXA ~~Gft?;r~ (~-)~~
'q'{ ~ .q ~ cp;rr~ Gt~(WHlI

(A) Z

(B) X

(C) A

(D) (A-Z)
'/,.

16. ~ ):fgtil~fslitj~f~€fi ~ m~ ~qni€fi

X ,ani-~ T.!.(f?tT 3ftmf ~ 't tmtR
2

~tl

1
. (A) 't=-;T} =0.693X

X 2

(B)
1

't=-;T1 ='t.In2X -2
(B)

1
't=-;T1 ='t.In2

A -2

(C)
In2

't=-;Tr ='t.In2X -2
(C)

In2
't=-;T1 ='t.ln2X -2

(D)
In2

't=X.In2 .T, =-
. 2 A

(D)
In2

't=X.In2 .T, =-
2 A

17. m q 2 m ~&I+il"t ~~q;uff'q'{Sfilm: +2q

q+q~tl~~~~~~
t{€fi~+il"t ~ ~ E.q ~ ~ t (f?tT

~~~ml1fcf~~~t I
~.~~q;r~t-

(A) 8: 1

(B) 1: 4

(C) 1: 1

(D) 4: 1

1. Two charged particles of masses m and
2 m have charges +2q and +q
respectively. They are kept in auniform
electric field E far away from each
other and then allowed to move for the
same time. The ratio of their kinetic
energIes IS-

(A) 8: 1

(B) 1: 4

(C) 1: 1

(D) 4: 1
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18. The rotational.and translational kinetic
energies of a spherical object of radius
R, mass M, moment of inertia I rolling
smoothly on a plane surface with speed
v, will be equal if

(A) 1= 2 M ; R =2

(B) R=2M; 1=2,

(C) 1=Ml2 ;M =R

(D) I=O;M=R

19. A metallic cube abcdefgh moves with a
constant velocity v along the positive
Y-direction in a uniform magnetic field
B along positive Z direction, as shown
in the figure. Which face of the cube
will develope positive charge:

y
-+
,V a b

rc71dDU7e
g f

J-------+x

18. ~M~ql"l,R~~I~~
~ an~IC6I( fitos ~ ~ ~. ~
rnWf~rv~~~~~, cfft~~
~1"litt~t1 ~ ~ iRIiR jPft ~

(A) I = 2 M ; R = 2

(B) R=2M;I=2

(C) I=Ml2; M=R

CD) I'=O;M=R

19. m -ij ~ ~, Q"llfflC6 Z ~ -ij
~ ~Fclitl ~ Ii .q ~ UT<l cnr l;R

abcdefgh ~"llfflC6 Y-~ ~ Wr v' ~
~ ~ ~ 1l;R~ q;R ~ ~ 'q'( U"llfflCfi

~~ltm,

y
-+
,V a b

rc71dDU7e
g f

J-------+x

(A) abed (A) abed

(B) ghef (B) ghef

(C) adgh (C) adgh

(D) bcfe (D) bcfe
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2 . The property of light used in optical ; 20. !ACfiI~ICfI 'ffg (3iIQreCflH ~) .qmnm
fibers is : CfiTenn:f ~ crn;n 'T1l ~ I

(A) dispersion (A) ftr~
(B) interference (B) &4klCfI(o I

(C) total internal reflection (C) ~ 3iHtRCfI Q(lctd"1

(D) diffraction (D) ~

2 . The energy of an excited hydrogen atom 21. 3=dMd ~1$~\it"1 ~ ciit ~ -3.4 eV
is -3.4 eY. The angular momentum of ~ I ~ ~o;l"'d ~ ~ $~~I"1 CfiT
the electron according to Bohr theory ch\oi\<=I ~ ~ I
is -

(A) 6.8 x 10-33 J.S (A) 6.8 x 10-:33 J.S

(B) 2.1 x 10-34 J.S (B) 2.1 x 10-34 J.S

(C) 4.2 X 10-34 J.S (C) 4.2 X 10-34 J.S

(D) 1.7 x 10-34 J.S (D) 1.7 x 10-34 J.S

2 . Which characteristic of x-ray spectra 22. ~ ~ fQ~q CfiT cnT.:r rn ~ 'T1l ~&<f
does not change when the target ~ tR ~ d4~H('11 -
material is changed?

(A) intensity (A) ~

(B) wavelengths of characteristic (B) ~~ ~3if cirr ~ ~
lines

~fQ~q~.
,(C) \(C) shape of the continuous spectra

(D) cutoffwavelength (D) 3iOcn~~

2 . The depletion zone in a p-n junction 23. ~ p-n ~ ~ 3tCf~ tffif.q ~ ~ I
have:

(A) holes only
(A) ~~

(B) free electrons only (B) ~~$~~"1

(C) positive ions only (C) ~~3w;r;J

(D) both positive and negative ions (D) ~ mn ~ ~ 3w;r;J
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24. A forward biased p-n junction having 24. ~ am iiUilf~h" p-n ~ ~ CfIT iiu
band gap Eg emits light of wavelength 31o:(1(IH Eg ~ A ~-~ CfIT ~
A , where A is : 3ffirnd CFroff~, ~ A ~ I
(A) Eg/hc (A) Eg/hc

(B) (Egn)/c (B) (Egn )/c

(C) hc/Eg (C) hc/Eg
(D) h/cEg (D) h/cEg

25. In an elastic collision: 25. ~~GEJR-ij

(A) the kinetic energy of each
(A) ~~~mcfft~~colliding body as well as the total

. ~ ~ ~ ~ ~ fSlo/Itftkinetic energy does not change

(B) the kinetic energy of each (B) ~~~mcfit~~
colliding body may change but the

~.~ ~ l:R ~ cfit~total kinetic energy ofthe system
~ ~ ~ fSI~Mtftdoes not change

(C) the kinetic energy of each (C) ~ ~ ~ m ~ f.fenp;r
colliding body as well as the total

cfit~ ~ ~ 'iifo/f ~ IIkinetic energy ofthe system may
change

(D) ~~~m~~~(D) the kinetic energy of each
~ fSI~Htft ~~ cfft~ ~

colliding body does not change
~ fSI~Htft ~ Ibut the total kinetic energy ofthe

system does change

26. 1'(CZ(€tICfiEiol~ ~ ~26. The gravitational force is a :

(A) Dynamic force (A) ~~

(B) Constant force (B) f.F;ro~

(C) Conservative force (C) m~'iiWf

(D) Non-conservative force (D) :m:k~'iiWf
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2 . A bullet when fired at a fixed target has 27. ~ Tffi;iT, ~ ~ ~ (O{~. 'CRG;I1ft ~
its speed decreased to 50% after ~oT 15 cm~~~~ 50%~
penetrating 15 em into it. What q;q ~ ~ ~ I i€t{lql€HOW .q ~ ~ ~
additional thickness it will penetrate ~~~~~?
before coming to rest?
(A) 15 em (A) 15 em

(B) 10 em (B) 10 em
(C) 5cm (C) 5cm
(D) 7.5 em (D) 7.5 em

2 . A black body has maximum wavelength 28. ~ ~fWt cnT ~ ~ 2000 K Oll:f 'CR
').. at 2000 K. Its corresponding ~(1{.I~e4 ').. ~13000K'CR~

m m

wavelength at 3000 K will be- Wm t1{.I~e4~-

(A) ~').. (A) ~')..
2 m 2 m

(B) 2')..
(B) 2')..

3 m 3 m

(C) 16').. (C) 16A,
81 m 81 m

(D) ~').. (D) ~A,
16 m 16 m

2 . A vehicle having a mass of 500 kg is 29. 500 kg ~6Qql"1 cnT ~ ~ 10 mls ~
moving with a speed of 10 m/s. ~~~~~ I~ 10kg/min~~
Sand is dropped into it at the rate of 10 ~ ~ SR"ft ~ ~I ~ q;) ~ ~
kg/min. The force needed to keep the

~ .lfdql"1 m~~ 3i1C(~(;(Cf) ~ ~ -vehicle moving with a uniform speed'
will be- ~N

~N
(A)

(A) 3
3

~N (B) ~N
(B) 5

5

(C) ~N (C) .!.N
5 5

(D) 5N (D) 5N
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32 Assuming that the mass of earth is 32. ~lIA'cfid~~<fil~qI4 6.64 x 1024kg
6.64 x 1024kg and the average mass of ~ am'l!~l:R~:m<fil ~ ~ql4 40u
atoms on the earth is 40 u, the ~, 'I!?Cftl:R~cfit~~~ I
approximate number of atoms on earth
IS : (A) 1045

(A) 1045 (B) 1050

(B) 1050 (e) 1055
(e) 1055

(D) 1060
(D) 1060

3 . The range of nuclear force is of the 33. mPch+04 ~ (~Wi+04( ~) ciiT'QW

order of: ~)~, &lil'AA

(A) 100 fermi (A) 100~

(B) 50 fermi (B) 50~

(e) 10 fermi (e) 10~

(D) 02 fermi (D) 02~

3 . Nucleus 234Thdecays either by the 34. ~ 234ThCfiT~ 3WtfiT Cfi'OTI 3fR/~
emission of alpha particles and/or '& Cfi'OTI ~ JffNi4 ~ ~ ~ I f.t1:l ~
P - particles. Which of the following ~.q~~m~ ~~CfiT

stable nuclide is the end product ofthe ~~it~tl
decay (A) 206 Ph
(A) 206 Pb (B) 207 Ph(B) 207 Ph
(e) 208 Pb (e) 208 Ph

(D) 209 Ph (D) 209 Ph

3 . 35. ~ ~ FI+04diCf) "A crrRm3fl ~ ~For a radioactive material of decay
constant "A, and initial numher of atoms ~ ~ mffircn -cronuJ3UciiT~ No
No, the decay rate at time t is: di', ciiTt-~1R ~~~

(A) Noe-At (A) Noe-At

(B)
No -At No -At-e (B)"A

-e
"A

(e) ANoe-At (e) ANoe-At

(D) A -At A -At-e (D)No
--e
'No

.
i
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36. According to the kinetic theory,
temperature of a gas is a measure of
the average:

(A) velocity of molecules

(B) heat content of molecules

(C) kinetic energy of molecules

(D) potential energy of molecules

37. The potential energy vs displacement
graph for a body is a parabola as shown
in the fig. The body is under going:

+

36. ~~0Si1'1'1 ~ ~ ~. cnr tllQQI"t
lntf~

(A) ~:m~~~cnr

(B) ~:mcfit~~~cnr

(C) ~:m cfit~ llfffif ~ cnr

(D) ~:mctft~~~cnr

37. ~fir.:scfit~~·~~cnr
mq; QV:WliI ~, ~ fcfi m -ij ~ ~. I
fir.:s~~~ I

+

~~
- Displacement ~

(A) straight line motion with constant
velocity (A) ~~.q~~Tfffi

(B) straight line motion with uniform
(B) ~ ~ -ij ftq('€HOI '« Tfffiacceleration

(C) circular motion with constant (C) ~q(tHOI ~ q'ftIChH Tfffi
acceleration

CD) simple harmonic motion (D) ~~Tfffi

Set-ATUHA/14 -15-
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3. 105 calories of heat are- required to
raise the temperature of3 moles of an
ideal gas at constant pressure from
25°C to 30°C. The amount of heat
required to raise the temperature ofthe
same amount of gas through the same
range of temperature at constant
volume-

(A) 100 cal.

(B) 75 cal.

(C) 80 cal.

(D) 85 cal.

38. 3 lffi;{ ~ tm q;r 0Itf 25°C ~ 30°C
ocnf.p;m~~.~~~ 105~
~ cirr 3ii€4:(!4Cfidi ~ ~ I tm c6t ~
lfIm q;r ~ ~ 'QUl1.q '(11tf,~

3mKR ~ ~.q 3ii€4:(!4Cfi ~1&Fft -

3. Capacitor C. of 51lF is first charged to
a potential of 15V by making on the
switch SI.'After CI is fully charged,
switch SI is made off and switch S2 is
made on to connect capacitor C2

(10JlF) .At equilibrium the potential
difference across Cj orC, is :

(A) 100~

(B) 75~

(C) 80~

(D) 85~

39. 51lF ~ mnfuf C
1
"C6l~ m~ S,"C6l

3tR ~ 15V Ocn3ii~ijld ~ \iffiff ~ I
~ C1 ~ 3i1~ij'd ~ ~ ~ m~ s,
3ff1li ~ ~ \iffiff~ am ~ S2 3rr.J ~

CI"C6l~ C
2
(10JlF) ~\iIls~\iffiff

~1~~.qCl~C2~~~
~ ~ ~ Pcr\tCCid( ~ I

Sl S
2

f5V r,=5W 2 •

(A) 5V (A) 5V

(B) 10V (B) lOV

(C) l5V (C) l5V

(D) 20V (D) 20V
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40. Which of the following represent 40. ~ if ctt.:r m ft4flCfi,(oi ~ cnr f.F;rq
Faraday's law: 'f<t&Idi ~ I

(A) <Po =fB.dA (A) <Po=fB.dA

(B) B = J.loin (B) B=J.loin

f~d- -dCPB f- - -dCPB(C) E. s=
(C) , E.ds= 'dt dt

- -dE - -dE(0) jB.ds=-
(D) jB.ds=-', dt

dt

41. F I and F2 denote the apparent 41. ~ llfif v ~ al{dql;>t ~ ~. /
frequenciesof a light sourcemoving with ~ 3mm:fi :a11qfihli SfiIm: .-~~ ~
the relative speed v for source-observer ~~~~~~3ffi~~SFi1Useparating and approaching each other

~~FIO?nF2 ~ IF/F2cnrlfR~ Irespectively. The ratio F1/ F2is :

(1-v2/c2)(1_v2/c2)
(A) (A) , (1+v2/c2)(1+v21c2)

'(1+V2/c2)(I+V2/C2)
(B)(B) ~ (1_V2/c2)(1_V2/c2)

(C) (1- V2/C2) /(1+V2/C2) (C) (1- v2 /c2) /(1+V2/C2)

(D) (1+v2 /c2) /(1_V2/C2
) (D) (1+v2 /c2

) / ( 1- v2/ c2
)
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2. According to the Bohr's model for
hydrogen atom, the allowed values of
the orbital magnetic quantum number
Imare:

(A) I, (I + 1), (I + 2) -----

(B) -1,-(1+1),-(1+2)----

(e) -I, -(1-1), - (1- 2) ---- +(1-1),+1

(D) I, (1- 1), (1- 2), --------

42. ~ ~ ~1$il\i1"1~)~ ~ ~,
iktciil<:4 ~~ tm'WltRir~~

(A) I, (/ + 1), (I + 2):rr:..--

(B) -1,-(/+1),-(/+2)----

(e) -I, -(/-1), - (1-2)----+(1-1),+1

(D) I, (/- 1), (/- 2),--------

3. For one dimensional motion, the force 43. ~~11ffi~m~F (x)om~
F (x) and the potential energy U (x) are ~U(x)CfiT~~ I
related as:

- dU(x) (A) F(x) =
- dU(x)

(A) F(x) = dx
dx

dU(x) (B) F(x) =
dU(x)

(B) I;(x) =
dx dx

U(x)= dF(x) (e) U(x) =
dF(x)

(e) dxdx

- dF(x) • - dF(x)
(D) U(x) = (D) U(x) =

dx dx \

4. For a satellite in circular motion around
the earth the kinetic energy K and the
potential energy U are related by :

(A) K =U/2

(B) K=- U/2

(e) K=2U

(D) K=-2U

44. ~~ -& q'dICfiI'( q:)~ .q ~ ~ ~
~·ciit~-~Kom~-~
UCfiT~~tl

(A) K=U/2

(B) K=-U/2

(e) K=2U

,(D) K=-2U
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45. Most of the ability of the eye to form
the image of an object is due to :

45. ~ ~ Sli"dRtkt ~ ciit • ciit~
~ ~ am CfiroJT~ I

(A) cornea (A) CfiTr.«:i1

(B) pupil (B) ~

(C) ciliarymusc1es (C) ~wv.<jflqi~q~l(;ji

(D) eye lens (D) ~ 'ffi:f

46. In Young's double slit experiment, the
two slits are illuminated by two
different but identical sodium lamps.
Which of the following statement
about the condition of the screen is
correct:

(A) Screen will be dark as light from
two lamps will cancell each other

(B) Screen will be dark as sodium
light from lamps will not be able
to pass through the narrow slits.

(C) There will be dark and bright
fringes on the screen due to
interference.

(D) There will be uniform
illumination on screen as two
sodium lamps are not coherent
sources

46. "WT ~ ~ ~.q GRT ~ ~ l{Cfi~ql"t

~ ~-~ f1l~(;jq~ ~ Sli"d~R

ciit~~ I~ciit~%~.q~
.q~.m qCR1&1 m=q~ I

(A) 'Q''{Gl~enm $ (enr~n) lTlTl
~ftn Gl;it ~~ ~ 3tA cm;n
~m ~ ctm enT ~ en'{~Tft I

(B) 'Q''{Gl~enm '{~ (enlm) lTlTl
~ftn m~(;jq ~ ~ ~

.q~~-;r@mnm I

(C) ~ ~ &li"dCfl(OI ~ ~ <tm ~
~~~I

(D) ~ ~ ~ SlCflI~ld ~ ~ ~

~Wiq~~-~~~~ I
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4 . Step-up transformer is used to increase 47. 3i£1l4'1 ~I"'(01Cf)14(CfiT ~ ~ ~ ~

the: ~~I
(A) D.C.potential difference (A) tt.m.~
(B) D.C.resistance (B) tt.m.~u
(C) A.C.potential difference (C) ~.m.m~i(,H

(D) A.C.reactance (D) ~.m.Slkttlld

48. ~ ~ ~ 3i1$filil'1 -ij ~ ~ -ij4. Isotones of a nucleus have same number
of: ~~:
(A) protons (A) meR
(B) neutrons (B) ~
(C) nucleons (C) ~<413tf.:r
(D) mesons (D) ~

9. Light of wavelength 6200A falls on a 49. 6200A d(41~e4 ~ w.nm CfiT1.0 eV ~
material of photo electric work function w.nm ~ CFi1d-~ ~ ~ 1:Rswrr
1.0 eY. The stopping potential for the ~~ 13i£1dq~~$H~I'1CfiTm
most energetic photo electron is : ~ f.roUt ~ CfiT m;r ~ I.(A) 2.0V (A) 2.0V
(B) 1.5 V (B) 1.5V

(C) 1.0 V (C) 1.0 V

(D) 0.5V (D) 0.5V

o. A charge of magnidue Q is placed at a 50. Q~. ~ ~-~ CfiT~ ~ ~

distance % from the center of a 3ilclWld, o 3't1~i1ltj'1Rt om R ~ ~

spherical shell of radius R, uniformally ~.~~~ % ~1:RWT\fflffi

charged to the charge density cr. The ~IQ~~CfWfT~~~~
electrostatic force on Q is :

(A) Proportional to o Q (A) oQ ~ (Otqljqldl

Proportional to % (B) %~(Otqljqltft(B)

Proportional to ~ (C) ~ ~ ftql~ltft(C)
(D) Zero (D) ~
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Chemistry
(Q. No. 51 to 100)

(A) Cr(CO)6 .

(B) K[PtCllr12 - C2H4)]

(C) K4[Fe(CN)6]

(D) (C2Hs)4Pb

51. Which of the following is not an
organometallic compound?

52. Number of atoms present in 1.8 gH
2
0,

1.7 g NH3 and 1.6 g CH4 has the
following sequence -
(A) H20<NH3 <CH4

(B) CH4 <NH3 <H20
(C) CH =NH =H °4 3 2

(D) NH3 <CH4 <~O

53. 40 milligram of pure NaOH is
dissolved in 10 litres of distilled water.
The pH of the solution is-
(A) 4
(B) 8
(C). 10
(D) 12

54. The IUPAC name of

CH3
I

H3C-C==C- CH-CH=CH2 IS-

(A) 3 - methylhex -1:- en - 4 - yne
(B) 4 - methylhex - 5 - en - 2 - yne
(C) 4 - methylhex - 2 - yne - 5 - ene
(D) 3 - methylhex - 4 - yne - 1 - ene

(Jt. 16. 51 ~ 100)

51. f.l""tfetR§d.q~ ~ ~ ~
-;yff ~ ?

(A) Cr(CO)6

(B) K[PtCI3(q2 - C2H4)]

(C) ~4[Fe(CN)6]

(D) (C2Hs)4Pb

52. 1.81l11fH
2
0, 1.7 1l11fNH3 ~ 1.61l11f

CH
4
.q~3UciiT~qrr~~-

(A) H20<NH3 <CH4

(B) CH4 <NH3 <H20
(C) CH4=NH3=H20
(D) NH3 < CH4 < H20

53. 10~~~.q~NaOH~40
fiR;ft 1.fp:f en) ~ -rp;n I RI~(Oj"t qrr pH

~-
(A) 4
(B) 8
(C) 10
(D) 12

CH3I
54. H3C - C ==C - CH - CH=CH qrr2.

IUPAC~~-

(A) 3 - ~ - 1 - ~ - 4 - ~

(B) ~-~-5-~-2-~
(C) 4-~- 2 - ~- 5-f.f

(D) 3 -~- 4 - ~-l-f.f
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55. The unit of rate constant for a first order ,55. w.m ~ cf:r ~fs1:;~1 ~. ~ ~ CfiT ,
reaction is - ~~...:

~

(A) second"
I

(A) ~-l 'f

(B) mole second:' (B) ~~-l

(C) mole litre" second" (C) ~~-I~-1

(D) mole' litre second:' (D) ~-l~~-l

56. For which of the following reactions, 56. Pi'""1w.mnt 11 ~ ~ ~ ~ ~
the heat of neutralisation will be '3&1«l41cfi'lOI ~ ~~?
maximum?

(A) NaOH+HCI
(A) NaOH+HCI

(B) NaOH+CH3COOH
(B) NaOH+CH

3
COOH

(C) NH
4
OH+HCI (C) NH

4
OH+HCI

(D) NH
4
0H + CH

3
COOH (D) NH

4
OH+CH

3
COOH

57. Which of the following molecules 57. Pi'""1w.funt 11 ~ ~ 3tOJ 11 ~ ~
does not possess a permanent dipole ~~~\iffiff~ ?
moment?

(A) ~S
(A) ~S

(B) CO2
(B) CO2

(C) NF3 (C) NF3

(D) S02 (D) S02
\

58. How much water is needed to dilute 58. ION HCI ~ 10 fi:«;ft.~ PciH~"11fcto.rr
10mL of ION HCI to make it exactly ~. ~ cf:r ~1€lQ~Chdll~ PciH~"
0.1 N?

0.1 N~cnTW~?

(A) 990mL (A) 990 fi:R;ft~

(B) 1000 mL (B) 1000 ff«;fi ~

(C) 340mL (C) 340 fi:R;ft~

(D) 560mL (D) 560 fi:R;ft~
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60. An aqueous solution whose pH = 0will 60. ~~ FelHq::t ~tlCfiI pH =O~, ~-
be -

I(A) ~(A) acidic
(B) ::S~lfft::t(B) neutral

r(C) basic (C) ~

(D) amphoteric (D) ~

61. The number of orbitals present in a 'g' 61. ~ 'g' ::sqCfil~1.q ~ ~ ~ q;~ cin
subshell are - ~t-
(A) 6 (A) 6

(B) 7 (B) 7

(C) 8 (C) 8

(D) 9 (D) 9

59. According to Arrhenius equation, the 59. :mff~ ~'{VT c}) ~lfR, ftn~
rate constant of a chemical reaction is (Itllq""'Cfi ~ijlwl 'Cfif~ ~ ~ t-
equal to -

(A) Ae-EalRT (A) Ae-EalRT

(B) AeEalRT (B) AeEalRT

(C) Ae-RTIEa (C) Ae-RTIEa

(D) AeRTIEa (D) AeRTIEa

62. How many coulombs of electricity 62. 0.06lffi;r MnO; ~ Mn2+.q3N:qq::t1g
are required for the reduction of

~ ~IAt ~ cin ;:HICI:jqCfifil~?
0.06 moles of MnO; to Mn2+?

(A) 0.05~
(A) 0.05 Faraday

(B) 0.06~
(B) 0.06 Faraday

(C) 0.25 Faraday (C) 0.25~

(D) 0.30 Faraday (D) O.30~
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63. Which of the following 0.1 M aqueous 63. Mk1Wtfuid.q ~~ O.IM ~ fclH<:i01

solutions will have the lowest freezing cnT ~ "~i:1dq~?
point?

(A) ~S04
(A) ~S04

(B) NaCI
(B) NaCI

(C) Urea (C) ~

(D) Glucose (D) lti,ch)\i1

64. Which of the following is diamagnetic? 64. Mk1Wtfui d .q ~ ctft;r $Ifd~dil<:i ~?

(A) H+ (A) H+
2 2

(B) N+ (B) N+
2

2

(C) 0+ (C) 0+
2

2

(D) NO+ (D) NO+

65. Radioactive decay is a - 65. ~Q!4Il{fckq~ ~ 'l{Cn-

(A) zero order reaction (A) ~~~~

(B) first order reaction (B) m.m~~~
(C) second order reaction (C) ~~~~

(D) third order reaction (D) ~~~~ ,
\

66. Hydrolysis of an ester gives an acid X 66. 'l{Cn~ cnT \iW{ ~ ~ 'tR ~ ~
and an alcohol Y.The X reduces Fehling X~'l{Cn l{~~IH Ymlt~~ IX q,~~11
solution and oxidation ofY gives X. The fcI H<:i 4 q;) 3iq~P:id cn«Il ~ 'Om Y ~
ester is - 3ilCRf1Cti(ol'tR X mlt ~ ~ I'3m ~ ~ -
(A) methyl formate (A) ~~

(B) ethyl formate (B) ~~

(C) methyl acetate (C) ~~

(D) ethyl acetate (D) ~~
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67. The ground state electronic 67. 24Cr~ 1W' ~.q $<"1ct?If.lCfiRI'"4I~
configuration of 24Cris - ~-
(A) [Ar] 3d54s1 (A) [Ar] 3d54s1

(B) [Ar] 3d44s2 (B) [Ar] 3d44s2

(C) [Ar] 3d34s2 -lp' (C) [Ar] 3d34s24pI I(D) [Ar] 3d64so (D) [Ar] 3d64so

70. Which of the following is not a 70. f.p:;f .q ~ Cffr.r ~ 3'C'1~<94P~~?
colligative property?

(A) L1T
f

(A) ATf

(B) L1Tb (B) ATb

(C) x, (C) ~

(D) Osmotic pressure (D) q~lfHOI~
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I. M~g)+E ~ M~~+e 71. M~+E~M~~+e

In the above equation, E represents -
$ ('44lCb{UI.q E f.i(O:ft\d q){OT l -

(A) first ionisation potential (A) ~~fcrqq

(B) second ionisation potential (B) ~~fcrqq

(e) electro negativity (e) ~ 5tSUIj('QCbdl

(D) electron affinity (D) ~M~I'1~

2. Which of the following pairs does not 72. autffi~.q f.iiO<1~f{gd .q~ cit;r m ~
show diagonal relationship in the ~ ~ 5I~tlid ~ cn«n?
periodic table?

(A) Li-Mg
(A) Li-Mg

(B) Be-'"Al
(B) Be-AI

(e) B-Si (e) B-Si

(D) Na-Be (D) Na-Be

73. Which of the following will have the 73. AS2S3CblMi(4s ~ ~ f.iiO<1~f{gH .q~
highest coagulating power for AS2S3 fi\i('4~ ~ ~ ~ l ?
colloid?

(A) NalO4
(A) .NalO4

(B) ~S04
(B) ~S04

(e) csci, (e) csci,

(D) Alel3
(D) AIel3

74. The hybridisation of e atom in 74. ~, ~lfil$G ~ ~elR~'1 .q e ~ lfiT

diamond; graphite and acetylene is, ~l,~:-
respectively -

(A) Sp3,Sp2,sp
(A) Sp3,Sp2,sp

(B) sp, Sp2,Sp3 (B) sp, Sp2,Sp3

(e) Sp3,sp, Sp2 (e) sp', sp, Sp2

(D) Sp2,Sp3,sp (D) Sp2,Sp3,sp
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75. Which of the following relations" 75. PI~R-1f&t1 ~ .q ~ thT.l 't!1$Jt"1cq1i
represents 'Heisenberg's uncertainity 3iPl~t1t1I~' ~ '&1m ~ l ?
principle'?

(A) E=hv
(A) E=hv

h h(B) A=-
(B) A=- mvmv

h h
(C) ~.~p~-(C) ~.~p~- 4n4n

(D) nA,=2dsine (D) nA=2dsine

76. The 'acid rain' which damages historical 76. '~~' \ill ~~~Ire(f) f'iHcii ~ ~
monuments is caused by the presence Q§+.mfl l, ~ ~ ciiT ~ ~ CfiroJT
of- ~l-
(A) CO2 (A) CO2(B) CFC (Chloro Fluoro Carbon)

(B) CFC(~~~)
(C) Oxides of Sand N

(C) S ~ N ~ 3iTCfaI$s(D) CH4 (D) CH4

77. Two molecules of an aldehyde react 77. ~ ~s~l$s ~ ~ 3fOj ~ NaOH ~
with cone. NaOH and produce one 'ffi?t~~ ~t!TH~~~~-
molecule of an alcohol and one

~ 3fOj ~ f I t{Wg~I$S l -molecule of an acid. The aldehyde is -

(A) HCHO (A) HCHO

(B) C~CHO (B) C~CHO

(C) CI\C~CHO
(C) C~C~CHO

(D) CI\C~C~CHO (D) C~C~C~CHO

Nylon - 6 is obtained from - 78. "11$<11"1- 6 mR ~. \ifTffll-78.
(A) phenol and formaldehyde (A) Rh"1TH~ Cfif4Wg~I$s ~
(B) ethylene glycol and terephthalic (B) ~ 4Hl$(f)TH~~~

acid ~
(C) hexamethylene diamine and (C) ~ sl$t{4\"1 ~ \{Qfq(f)

adipic acid
~~(D) caprolactam (D) a,sil;tctlq ~
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79. Which of the following coordination 79. f.lqf(;wf&(1.q 'R ~ ::sqtlt;~ii)\itCfi~
compounds will give a white precipitate BaCl

2
~-l~~~.3rcfp)q~?

with BaCl2 solution?
(A) [Pt (NH3)6] Cl4(A) [Pt (NH3)61C14

(B) [Co (NH3)5SO4]Br
(B) [Co (NH3)5SO4]Br

(C) [Cr(H20\Br] S04 (C) [Cr(H20)5Br] S04

(D) [Cr (H2O)3CI31 (D) [Cr (H2O)3CI31

80. Which of the following will liberate 80. f.lt;1~f&(1 .q 'R cir.t kBr'R Br2~ -cnu
Br2from kBr? ~?

(A) ~ (A) n,
(B) ~ (B) ~
(C) Cl2 (C) Cl2
(D) S02 (D) S02

81. One mole' of a hydrocarbon X reacts 81. ~ ~1$~CfiIaf.1X em ~ ~ ~ ~
with one mole of bromine to form a ~1fuw1~~~~ gl$~"" ~
dibromo compound CSH10Br2. On CSH10Br2GRmT ~ I ~~ ~ozonolysis, X gives equimolar
quantities of acetone and acetaldehyde. l:R X~ mm.q ({«lit ••~ ({«loo~l$g

The compound X is - ~~ I <itfircn X~-

(A) 2 -Methyl - 2 - butene (A) 2-~-2-~

(B) 2 -Methyl- 1- butene (B) 2-~-1-~

(C) 2 - Pentene (C) 2-~

(D) 2 - Ethylpropene (D) 2-~~

82. Malachite is an ore of - 82. q&\CfiI$G~ ~ -

(A) AI (A) Alcnr

(B) Cu (B) Cucnr

(C) Zn (C) Zncnr

(D) Pb (D) Pbcnr
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83. Which ofthe following non metals is a
liquid at room temperature?
(A) Hg
(B) Cl2
(C) Br2
(D) ~

84. Colloidal solutions are purified by -

(A) Peptisation

(B) Dialysis

(C) Bredig's are method

(D) Coagulation

85. Which of the following is not an
aromatic compound? .

(A)0
(B)0
(C)Q
(D) D

86. Which of the following ores is
concentrated by 'magnetic separation
process'?
(A) ZnS
(B) AI

2
0

3
.2H

2
0

(C) Fe304

(D) Fe203

83. f.:t¥O;ff(;wRsl('11~ ~ ~, ~ ~ nrq
~,~Wll ?
(A) Hg
(B) Cl2
(C) Br2
(D) ~

84. eitMr~i\ RlM~••1CfIT ~ ~ ~ l-
(A) qci\€h~U' ID'U
(B) ~g:m
(C) ~ ~PcffUID'U

(D) ~ID'U

85. ~.q~ciA~~ilqf&~~l?

(A) 0
(B) ~~N..Jl

(e)0
.0

(D)D

86. f.:tqff:tf{§a.q ~ ~ ~ CfIT ~

'=g;kfchl~~~'~~~~
l ?
(A) ZnS
(B) Al203.2~O
(C) Fe304

(D) Fe203

Set-ATUHAl14 -33-

•



'-

7. What is the product Y in the following 87. Pi""1WtRsm ~ -ij ~ Y CfGITl?
reaction?

CH -CH-Br KCN >x . liA\H4 >Y
3 I

CH3

CH -CH-Br KCN -x UAlH4 >Y
3 I

CH3

(A) CH -CH-CH (A) CH -CH-CH
3 I 3

3 I 3

CN CN

(B) CH -CH -CH (B) CH -CH -CH
3 I 3

3 I 3

CH3
CH3

(C) CH - CH -CH - NH (C) CH - CH -CH - NH
3 I 2 2 3 I ~ 2

CH3
CH3

(D) CH - CH - NH-Br (D) CH - CH - NH-Br
3 I

3 I

CH3
CH3

88. The secondary amines react with
nitrous acid to yield -

(A) carbylamines

(B) alcohols

(C) diazonium salts

(D) nitrosoamines

88. ~ ~ ~ ~ @;m ~ molllOlCf)

~~~-
(A) Cf)1{aiM~l"1

(B) l{Hf)l~TM

(C) SI$G1If.fIlOlQMCfUT

(D) "11$~f11l{41"1

89. Neoprene is a polymer of - 89. Pi4hfl"1 ~ ~§~Cf) ~ -

(A) Chloroprene (A) ctMt<t5O"1 "Cf)f

(B) Isoprene (B) 3<t I$«150"1 Cf)l

(C) 1, 3 - butadiene (C) 1, 3 - ~GISI$"1 "Cf)f

(D) 1,3 - butadiene and styrene (D) 1, 3 - ~GISI$"1 "l{Cf fGl$:O"1 "Cf)f
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90. The density of 3M solution ofNaCI is
1.25 g per ml. The molality of this
solution is -

(Na = 23 u, CI = 35.5 u)

(A) 0.93

(B) 2.40

(C) 2.79

(D) 3.82

90. 3M NaCI Pe4<'1<Ft cnr ~ 1.25 mq"Slffi
fi:«;ft ~ I~ Pe4<'1<01'1cfit 'il H<'1d I ~ -
(Na = 23 u, CI = 35.5 u)

(A) 0.93

(B) 2.40

(C) 2.79

(D) 3.82

91. Which of the following is a method of 91. R¥OOtWtRSid -ij~ ~ ~ ~ mtl'1" cfit ~ .
refining of metals? ftriU~?

• (A) Distillation (A) 3lmCR

(B) Thermite process (B) ~~
(C) Roasting (C) ~

(D) Froth flotation method (D) .~ '3(!,C<'flq'1ftriU

92.. H2(g) + Cl2(g) ~ 2HCI (g) 92. H2(g) + Cl2(g) ~ 2HCI (g)

For the above equilibrium- ~~~~-
(A) Kp=Kc (A) Kp=Kc
(B) Kp>Kc (B) Kp>Kc
(C) Kp<Kc (C) Kp<Kc
(D) None of these (D) ~~CFiTt~

93. ~COOH NHJ >X~y P20~ >Z ~COOH NH~ >X. t. >Y P20s >Zt. 93. t.
In the above reaction, Z is -

~~-ij,z~-
(A) methyl cyanide

(A) ~ ftl<Ol'1I$s
(B) acetyl chloride

(B) ltfilRH ctMl'lI$S
(C) ammonium acetate

(C) 3i'ilR<OIq ~
(D) acetic anhydride

~RCfi It'1~I$~I$s(D)
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1
. Which of the following ions give 94. f.lql~fuldif -« • m ;m<R"WI if "\liRf coloured solution in water? RWt(044 ~ t ?

(A) Sc3+

(D) Ti4+

(A) Sc3+

(B) Cr3+ (B) Cr3+

(C) Zn2+ (C) Zn2+

(D) Ti4+

5. Which of the following is a covalent 95. R'"'1WtHsh1 .q ~ cnT.:r ~ fI~ti!4 !\itCh om-
solid? ~? •

(A) Solid CO2 (A) o1'tt' CO
2

(B) Si02 (B) Si02

(C) CsCl
(C) CsCl !

l
(D) Zn

4(D) Zn !
l• •t
w

6. Which of the following pairs of 96. R '"4R1Rst (1 .q ~ ~'fT ~1l{ 'ChT fu.q~ it• r
compounds cannot be distinguished by 3"i I(04i/ tf)u·i tRtlWIT ~ WU ~ fcfim \lfT 'fT'Chffi \iodoform test? f?

\
(A) CH30H and CH3CH2OH (A) CH30H ~ CH3CH2OH \

t
(B) CH3CH2

0H and CH
3
CH

2
CH

2
OH (B) CH3CH20H ~ CH3CH2CH2OH

(C) CH3CHO and CH3CH2OH (C) CH3CHO ~ CH3CH2OH

(D) CH3CH2CHO and CH3COCH3 (D) CH3CH2CHO ~ CH3COCH3

TUHAl14 -36- Sct-A
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97. Intramolecular hydrogen bond is 97. ~:3t1ljCFi t;1$41'!i1'1(!f;u l:fTtIT \iffifT~ -
present in-

(A) o - '11$~fQ:i'1TH.q
(A) o - Nitrophenol p - '11$~fIot;'1TH.q
(B) P - Nitrophenol

(B)

(C) water (C) "!i1M.q

(D) hydrogen fluoride (D) t;1$41'!i1'1,*,l~l$s.q

98. The number of a and ~ particles emitted 232 208
232 208 98. ~~ Th~ Pb e90 82

in the nuclear reaction 90Th~ Pb82 3fftNld a~ ~m~~~-
are -

(A) 3a~6~
(A) 3 a and 6 ~

(B) 4a~7~
(B) 4 a and 7 ~

(C) 4aand8 ~
(C) 4a~8~

(D) 6 aand4 ~ (D) 6a~4~

99. The hybridisation of Xe atom in XeF 4 99. XeF4~.qXe~cnT~~-
molecule is -

(A) dsp2
(A) dSp2

(B) Sp3
(B) Sp3

(C) sp3d (C) sp3d

(D) sp3d2 (D) sp3d2

100. The Vant Hoff factor i for a 0.2 molal
aqueous solution of urea will be-

(A) 0.1

(B) 0.2

(C) 1.0

(D) l.2

100. 0.2 ~ ~ ~ ~ RtHtI'1 ~ ~
CfR~~i~-

(A) 0.1

(B) 0.2
(C) 1.0
(D) 1.2

• •
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Botany
(Q. No. 101 to 150)

cFf~qra lIRi

('St. ~. 101 -a 150)

101. "M~'~~~~q;) f.h:cRttt~
~ J'tH((I41 Cfi'RCfil.q '% ~ :

(A) ~.~.~.

(B) :mt.~.~.
(C) 'ift.~.
(D) €h1$~fc.1

01. The phytohormone which is supposed
to be one ofthe factors responsible for
regulating the opening and closing of
stomata is:
(A) ABA
(B) IBA
(C) GA
(D) Kinetin

1 2. Cyclic photophosphorylation
associated with:
(A) Photo system I
(B) .Quantasome
(C) Pigment system II
(D) Photolysis

1 3. In mitosis, the chromosomes can be
seen most distinctly during :
(A) Interphase
(B) Prophase
(C) Metaphase
(D) Telophase

1 4. Which one of the following is the
connecting link between glycolysis and
Kreb's cycle:
(A) Pyruvic acid
(B) Isocitric acid
(C) Acetyl Co-A
(D) Phosphoglyseric acid

1 5. Which ofthe following clogs the cavity
of the xylem vessels:
(A) Tylosis
(B) Cystolith
(C) Hydathode
(D) Ruphide

102. ~ ~ lflIWiil€h~OI ~ ~ :

(A) ~-o;;{ I ~

(B) q;ql;:elftlq~

(C) qofu; 0;;{ II ~

(D) ~-~~

103. ~~.q~~wl!!ttq~~~
~ :
(A) ~.q
(B) ttqh:.4~.q
(C) ~-ij
(D) ~.q

104. ~HI$€hI~~fI ~ ~ ~ cit ~ ~
~~:
(A) CjI$~PcI€h~

(B) 3i1i4('1)~~€h ~

(C) tttflQH Co - A

(D) lfllf'ilfTHflR€h ~

105. (('~€1IQ€hI:m ~ ~ q;) f.tq it ~~-
~~~.~~~:
(A) ll$Ml~fI

(B)~0~2t
(C) ~~
(D) ~
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106. Which one of the following is
responsible for conducting radially
water and food materials in the woody
stem?
(A) Vessels
(B) Xylem fibres
(C) Endodermis
(D) Vascular rays

107. Fully developed male gametophyte in
angiosperms has:
(A) .One nucleus
(B) Two nuclei
(C) Three nuclei
(D) Four nuclei

108. During fertilization in angiosperms the
pollen tube generally discharges the
male gametes into the:
(A) Egg
(B) Central cell
(C) Healthy synergid
(D) Degenerating synergid

109. When F Ihybrid indidual is crossed with
recessive, homozygous parent it is
called:
(A) Test cross

(B) Outcross
(C) Monohybrid cross
(D) Reciprocal cross

.
I

110. The endosperm in the angiosperm
develops from: .
(A) Micropylar polar nucleus
(B) Chalazal polar nucleus
(C) Secondary nucleus
(D) Zygote

106. f.I"'1fFtRsid.q ~ ~, CfiIf8H~ .q ~

~~~~~~~3tH~141
~?
(A) cU~CfiI:m-e:m
(B) Grem -e:m
(C) ::H;(tfq+.u-e:m
(D) ~~-e:m

107. 3'l1qt1ailPtJi.q ~ RtCfiifld .Hy:qchli\~i\
.q~f-
(A) ~~
(B) q)~
(C) 'ffi;f ~
(D) ~~

108. ::H1qt1ailPtJi.q f.I~+.44~ ~ q~I'14fFtCfiI
3Y:qCf)l'CfiT~: Rt'l"Ni4 'Cfi«ft ~ :
(A) 3i$.q
(B) ~ Cf))~ICfiI.q
(C) ~ fi~l<:4chl~ICfiI.q
(D) 3'lQ$l'l"il;:ps fi~I<:4Cf)'~ICfiI.q

109. ~ F. ~ ~ CfiT 3'I5f"I1cfl,fiqg.q;J't
\iRCfi ~ 'l"iCfiRd~ \iffitT~, oT ~ mJil:r

CfiT~~ :

(A)· 'Q"{t~ ~

(B) ~:~
(C) ~~~
(D) og&iq~

110. ::H1qt1afiPt41.q ~ RtCfiffid~ ~ :

(A) afi\i1i~l{\ P~ ~
(B) ~H\i1H ~~~

(C) f~<:4Cfi ~ ~

(D) .y:q4\i1 ~
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11 . Maximum concentration of RNA is 111. 3m. 'F'.~. q;y ~~~\iffiff

found in : t:
(A) Ribosome
(B) Nucleolus

(C) Cytoplasm
(D) Mitochondria

11 . The substrate for photorespiration is:

(A) Glycolate
(B) Glucose
(C) Pyruvic acid
(D) Acetyl Co A

11 . The layer of cells in the anther wall
which helps in dehiscence of anther is
called:
(A) Exothecium

(B) Amphithecium

(C) Perithecium

(D) Endothecium

(A) (l$aOftjq .q
(B) ~~.q
(C) f11$iI\~II\J'q .q
(D) q'$ilCf)~tI,-ij

r

I
I
!
~,
I,

11 . 'Chilgoza' is obtained from:

(A) Pinus roxburghii
(B) Pinus gerardiana
(C) Pinus khasiana

(D) Taxus baccata

115. Among the following environmental
pollutants, which has the problem of
biomagnification :

(A) S02
(B) Hg fungicides

(C) 03 and CO2
(D) N02

112. tb)e1~ffQ~~,~~ ~ ~ ~ t :
(A) aMI$ciI;'tG

(B)

(C)

(D)

"\

a~Ch1'i1

q 1$'(C\~Cf) ~

"~ ~ .•.l{ftl M q')1 l{;zJtI$q It

113. q(lalCf)l~ f\lfit cnr ~ Cf))~ICfiI ~ ~

qWICfil~ ~ ~G~ .q f1~ltlCfi ~OT t,
Cfi~MldI t :
(A)~
(B)~
(C)~
(D)~

114. '~Man\l1I' mli ~ \iffiff t :
(A) ~ (Ietflattli$ ~

(B) ~ ruHliltll"'ll ~

(C) ~ ~lffltll"'Il ~

(D) ~~~

115. f.tqffifuro CTTOTCItuft~ ~~T .q ~
iSw.ijqRlRhCflIiH cfit ~ ~ t :
(A) S02
(B) Hg Cfi~"I~ICfi

(C) 03 3fu: CO2
(D) N02
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116. The membrane enclosing cell vacuoles
is known as :

(A) Plasmalemma

(B) Ecetoplast
(C) Tonoplast
(D) Endoplast

117. Which of the following IS not
membrane bound:
(A) Lysosome

(B) Ribosome
(C) Peroxisome

(D) Sphaerosome

,118. Which of the following condition is
seen in Pinus:
(A) Diploxylic
(B) Pychoxylic

(C) Manoxylic
(D) Polyxylic

119. Prokaryotic and eukaryotic cells differ
mainly in respect to :

(A) Size of a cell
(B) Shape of a cell

(C) Chemical composition of
protoplasm

(D) Organisation of nuclear material

120. The spindle apparatus is made up of:

(A) Endoplasmic reticulum
(B) Polysomes
(C) Microtubules
(D) Sphaerosomes

116. Chl~ICfiI qft fifffiCfiI3U 'CfiT3W.roJT ~
ern;fi ~ Cfi~Hltft ~ :

(A) CHI\i4OlIHQI

(B) t{CfG1CHlfl

(C) Gl;f)CHlfG

(D) t{•.i\CHlfl

(A) ~1$:HIftlq

(B) (i$anftlq

(C) ~3'llttfftWq

(A) ~~I~Cfi

(B) tl'1~I~Cfi

(C) ~(~~I~Cfi

(D) Cf4§)&I~Cfi

119. siliflR41reCfi am ~R41reCfi Chl~ICfiI:m.q

~~3RR.~~:

(A) Chl~1Cfil 'if; 3trcnR .q

(B) Chl~ICfiI cfit ~ .q

(C) ~-~ 'if; (ftl~f.lCfi ~.q

(D) ifI~chl~ ~ 'if; ~ .q

120. o¥ 3QCfi(UIf.tfiffi ~ ~ :

(A) ~ \itlfFtCfiI 'CfiT

(B) QIHlftl"fj 'CfiT

(C) ~~"tfFtCfiI3U 'CfiT

(D) ~iltil4't 'CfiT
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21. Partly homologous chromosomes are
called:
(A) B - Chromosomes
(B) M - Chromosomes
(C) Y - Chromosomes
(D) X - Chromosomes

22. 'Cistron' refers to :
(A) Function unit of gene
(B) Mutational unit of gene
(C) Recombinational unit of gene
(D) Unit of replication

23. The process by which DNA gives rise
to RNA is called as :
(A) Transduction
(B) Transformation
(C). Translation
(D) Transcription

24. 'One gene one enzyme' hypothesis was
proposed by :
(A) Kornberg
(B) Khorana
(C) Perutz and Kendrew
(D) Beadle and Totum

25. Ribosomal RNAs are synthesized in:
(A) Mitochondria
(B) Nucleolus
(C) Cytoplasm
(D) Chloroplast

126. Which one of the following species
yields edible oil and fibre:
(A) Cocos nucifera
(B) Mangifera indica
(C) Brassica campestris
(D) Arachis hypogaea

121. ~ m~ fiqGtld ~ Ch~Mldl :
(A) m-~
(B) ~-~

(C) ~-~
(D) ~-~ I,

(122. '~~I"i' ~ ~ l :
(A) ~ ltt Ch14~efI ~
(B) ~ c6\''3NRqd"i ~

(C) ~ ltt~: fi4lGtCh ~

(D) $Ifiiqifiiltt ~
123. 'it.'lF.~.~ 3m.'lF.~.f.h:riuT·cirr ~

Ch~MIJll :
(A) ~141$Cf:(/I"i

(B) ~1414ilq:(/l"i

(C) ~141H:(/I"i

(D) ~141fsh4'l"i

124. ~ ~ ~ $IFcboq'qRCh(YQ"i1$Ifiiql~
ltt~ ~:
(A) Chi4iit.i ~

(B) ~~
(C) qCh~G1~ ~ ~
(D) ~~~~

125. (I$Jifiiq 3m 'IF ~ q;{ fi~HEjol Wml :
(A) ql$ilthl~<:jl.q
(B) ~~.q
(C) ch1~IChI~.q
(D) ~Rd~qCh.q

126. m .q ~ ~ -'fft '\iflfif 1Sfm 'ffi;( .~ ffiT

~qmfil :
(A) ~ ~fflCb(1
(B) ~Cbu $fUgChI

(C) a~ChI ~..q~fi
(D) ~ ~1$4jfGt<:j1

,

I
I
t
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127. The:~,bal :wanning' is due to:
(A) Increase in 03
(B) Increase in CO2

(C) Heavy rainfall
(D) Decrease in CO2

128. Primary productivity is maximum in:
(A) Tropical rain forests
(B) Temperate forests
(C) Grasslands
(D) Monsoon forests

129. Which of the following practices has
caused maximum damage to Indian
forests:
(A) Jhoom cultivation
(B) Selectivation
(C) Block cutting
(D) Tongya system

130. In water bodies, 'eutrophication' is
caused by:
(A) High nutrient content
(B) Depletion of dissolved oxygen
(C) Hazardous insecticides
(D) Mercury pollution

131. Which of the following is a true climax
according to monoclimax theory :
(A) Edaphic climax
(B) Biotic climax
(C) Climatic climax
(D) Physiographic climax

132. The pyramid of number in tree
ecosystem is :
(A) Inverted
(B) Upright
(C) Partly inverted and partly upright

. (D) Horizontal

127. ''l..~os(;fiil~' cnTCf)RUl t :
(A) 0

3
.q~

(B) C02.q~
(C) ~CIlri
(D) CO

2
.q q;lft

128. ~ aNI&&idl ~ ~ t :
(A) '3Wf ~ CIlri cr.:ii .q
(B) ~ftnjwl cr.:ii.q
(C) ~.q
(D) ~ cr.:ii .q

129. ~.q~~m.n~ 'qHtililq;ijq;)~

~~t:
(A) ~~~
(B) ~iI"tI("q&i ~ ~

(C) ~~~
(D) ifn:rr m.n~

130. 'i1("'I~I<li.q '<@Rhi?h~I"t' cnTCf)RUl ~ t :
(A) ~~~'qR.q~

(B) ~~3iI~~"tcnT~

(C) ~1f.lCfiI(Cfi~G"tl~ft

(D) l:tTU~

131. ltCfi~~q ~41o:(1 ~ ~ ~ .q ~ •
q;I~PciCfi ~ t :
(A) ~~
(B) ~~
(C) ~M€Uilefl ~

(D) 'l..3iI~fdCfi ~

132. ~~-'fflI-ij~~~l:
(A) ~
(B) ~

(C) ~m~~~~
(D) ~
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1 3. The first stable photosynthetic product
in C-4 plants is :
(A) Malate
(B) Aspartate
(C) Oxaloacetate
(D) .Pyruvate

1 4. Mendelism was rediscovered by three
different scientist. Which of the
following is one of these scientists :
(A) Correns, C
(B) Muller, H.J.
(C) Morghan, T.R
(D) Bridges, C.B

1 5. Plasmids are:
(A) Viruses
(B) New type of micro organisms
(C) Extra chromosomal hereditary

material of bacterium
(D) Hereditary unit of bacterium

1 6. Tunica-corpus theory was proposed by :
(A) Hofmeister
(B) Nageli
(C) Hanstein
(D) Schmidt

1 7. Which one of the following is not true
for the bacterial cell wall :
(A) It is made ofmucopeptide
(B) It is,not antigenic
(C) It gives shape to the bacteria cell
(D) It does not have cellulose

1 8. The protein coat of viruses is called:
(A) Capsomere
(B) Capsid
(C) Viroid
(D) Virusoid

133. C -4 'tiluhlsrcnr~n1'M!!401~nf~~~:
(A) ~
(B) l{("qreG
(C) 3i1CFl\~jl{~lG

(D) ql$t1~G

134. qOSHC4I~ cfit ~: ~ 'ffi;r. f\l;;f .a~ IPlenl
~ciitl~.q~cm~ a~IPlc@.q~~~:

(A) ~,~
(B) ~,~.~
(C) lIlTR, it. ~
(D) ~,~. 'aft

135. CHIQq~ft l :
(A) ~
(B) ~~~lt~~
(C) ~~ PRflC4lltl3ijC4i~IC6~
(D) GilC4I'1cfit 3'ljC4i~ICfi ~

136. ~~C61 ~ ~OGI'fI cR SlR1lfClidam:
(A) t!iq:)+:rI$fG~~
·(B) ~~
(C) ~4tl\4 ~
(D) ~lffr~G .~

138. ~3if enT mtr.:r :meROT Cfit!Hldl t :
(A) &qtOffrtl~

(B) &q~&,
(C) C41t1~ltl4
(D) C41t1t1f1itl4
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139. Who,wnqngst the following is regarded
, as theffather of genetics'. ",'
(A) Robert Hook
(B) Gregor John Mendel
(C) Charles Darwin
(D) Hugo De'Vries

140. The process of photosynthesis is most
active in:
(A) Blue light
(B) Green light
(C) Red light
(D) White light

141. Seed dormancy is mainly due to which
of the following growth regulator:
(A) Abscissic acid
(B) Cytokinins
(C) IAA
(D) Gibberellic acid

142. Mendel hypothesized the law of
independent assortment of characters
in inheritance with the help of:
(A) Monohybrid cross
(B) Dihybrid cross
(C) Trihybrid cross
(D) Test cross

143. The bacteriophase contains an enzyme
known as :
(A) Dehydrogenese
(B) Protease
(C) Urease
(D) Lysozyme

I

144. Some flowers open during the day and
close at night. This is knownas :
(A) Phototaxy

. (B) Photonasty
(C) Phototropism
(D) ,Photopriodism

139. ~ct~Rsid.q ~ ~ '::H11ci~ICh~ "Chl
'\iRCn' 1=lA1'.~ t :
(A) ~~ ,
(B) WR~~
(C) ~~
(D) ~~~

140. w;nrmi~lI"Ol tf't finlll ~ ~
m~tr~~t :
(A) ~,~.q
(B) ~~.q
(C) ~~.q
(D) ~~.q

141. ~ • ~ •.••~f{§d ~ ~(j:tChl .q ~
~: ~ 'Ch"roJT~ t :
(A) ~f&tt~Ch ~ ~
(B) ftl$ilChI$~"t ~
(C) ~~~~
(D) fG1aR~ch ~ ~

142. ~~ ci~lj4jki.q~ aiqSCW"l ~f.nm
q)f Slkiql~"t ~ m :
(A), t{ChfiCh{ ~ctr ft~lildl ~

(B) ~Ch{ ~ cfft ft~lildl ~

(C) filfiCh{ ~ ctt ft~lildl ~

(D) ~&m1f ~ ctt ft~lildl ~

143. a~R<ilq:;I\i1.q~ l{~I$q tm:n~t~
Ch~('1ldlt :
(A) ~~I$41~\i1
(B) s.it\l{\i1
(C) ~
(D) HI$<m\i1I$q

144. ~,~~.q~i~mf.q~~
~~I~~i:
(A) lhl~lCR'fl
(B) <ilil~d1
(C) ciliI~IRI;Jq

(D) lhlllc:i\Rill('g\iq

Set-ATUHAl14 -49-



45. In plant breeding, new genes can' ',.
originate through:
(A) Polyploidy
(B) Somatic cell fusion
(C) Mutations
(D) Hybridization

46. In plant succession when the climax is
reached the net productivity :
(A) continues to increase
(B) starts decreasing
(C) becomes zero
(D) becomes stable

47. Enzymes which occur in multiple
molecular forms within a plant system
are called:
(A) Vitamins
(B) Co-enzymes
(C) Hormones
(D) Iso-enzymes

48. Which one of the following is labelled
with 3H to study RNA synthesis:
(A) Thymidine
(B) Uridine
(C) Cytosine
(D) Guanosive

49. Which one of the following is not
haploid:
(A) Synergid
(B) Antipodal cell
(C) Nucellus
(D) Vegetative cell of the pollen

50. The hormone which has negative effect
on apical dominance is :
(A) Auxin
(B) Gibberellin
(C) Cytokinin
(D) Ethylene

145. ~~.q~~~:~ sllS'4ict~
~ : .

(A)
(B)
(C)
(D)

at§)1fOltt~
Cfilf'?lCfiC61~IC®tI~ ~
3NRctd..n~.
~~

146. ~3'tjSfiqOI.q~~~~~
~ 'O!f~ 3NIGCfitti :
(A) 3'd:O"tH~ ~ ~
(B) ~~~
(C) ~~~~
(D) ~~~~

147. ~ ~-(p.{.q stfchocit.q; ~-3'tIfiR:4Cfi I

~ Cfi~Hj('1~ :
(A) Rcelfq"i
(B) ~-l{;:JtI$q

(C) ~
(D) ~-l{;:JtI$q

148. 3tRlF"'l{ «:jMCSlOI.q;~.q;~f.tq.q~
~~Cfir3H ~«C1iffttta~~:
(A) ~Itlfq~"i
(B) ~~"i
(C) ftl$l\«l"i
(D) ~3'tI'1I«l"i

149. ~.q~cnT.r ~~~:
(A) ~ ch\~ICfiI
(B) stkl&llftltt ch\~ICfiI
(C) an\ll iSCfilti
(D) 'qU1l ~ Cfilf'?lCfich\~ICfiI

150. ~ ~I~dl ~ ~qtld ~ ~ crn;n
~~:
(A) ~
(B) ~~~"i
(C) ftl$l\CfiI$f.i"i
(D) ~
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Zoology
(Q. No. 151 to 200)

151. Which of the following endocrine
organ is involved in fighting emergency
situations by their active secretion?
(A) Thyroid
(B) Pencreas
(C) Adrenal cortex
(D) Adrenal medulla

152. Which one of the following set of
cranial nerve is totally motor?
(A) Olfactory, trochlear, facial
(B) Occulomotor, abducens, trochlear
(C) Trigeminal,vagus,glossopharyngeal
(D) Facial, trigeminal, abducens

153. Match list - I with list -II and select the
correct answer from the code given
below the list:

List - I List - II
(a) Chorion 1. Nourishment
(b) Allantois 2. Protection
(c) Yolk sac 3. Fluidenvirrnment

(d) Amnion 4. Excretion

Code: a b c d
(A) 1 2 3 4
(B) 2 3 4 1
(C) 2 4 1 3
(D) 3 4 1 2

154. Cretinism is caused by:
(A) Hypersecretion of adrenal
(B) Hyposecretion of adrenal
(C) Hyposecretion of thyroid
(D) Hypersecretion" of Parathyroid

mfUr 1Im
(Jr.16. 151 "« 200)

151. f.h4~Rsia .q CIfR - m ~: mcft w-r
~~wq1JT~ ~IChffqCh ~

"« ~.q ~~~141 qmu~?
(A) ~ltHT<:4:S
(B) ~4;:(41:t1<:4
(C) \{fl~H ChI(lCR'l

(D) ~fl~H~

152. ~+:1~Rsia.q ~ ~ai 'ChT cnT.tm
~ tgJi6QOl ~ ~?
(A) 3'lT~cfd\, ~IFcfH<:4(,Cb~I<:4H
(B) 3'lT~I¥i\G(, \{&{~41,~IFcfH<:4(
(C) ~1$ciif?l,,*H,~, 4HlftIChRfG1<:4H "
(D) Cb~I<:4H,~1$ciif?l~H, \{&{~41

153. ~ - I ~f'~ .: II ~ ~qw.a~ O?n

~~~~~~~~~~:
~-I ~-II

(a) c61~T~ 1. ~

(b) \{H;:e:T<:4~ 2. W~
(c) mcn~ 3. ~lITttIlt

(d) \{~<:4T~ 4. 3ffiJ"i

~: a b c d
(A) 1 2 3 4
(B) 2 3 4 1
(C) 2 4 1 3
(D) 3 4 1 2

154. fsfiR:PI;;rq 'ChT cnrorr ~ :
(A) \{fl~H ~ 'ChT 3'lrntwi4

(B) ~~"iH ~ 'ChT 3'i(\'q4;4IC1

(C)
(D)
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155. Cantheridine is obtained from -

(A) Red ants

(B) Ball Weevils

(C) Beetles

(D) Honeybees

156. The eggs of ovovivoparous species are

(A) Microlecithal

(B) Macrolecithal

(C) Telolecithal

(D) Alecithal

157. Kaziranga wildlife sanctuary is famous
for

(A) Tiger

(B) Musk Deer

(C) Elephant

(D) Rhinoceros

158. Which of the following is a non-edible
fresh water fish?

(A) Cirrhenus mrigala

(B) Wallago attu

(C) Labeo rohita

(D) Tetraodon cutcutia

155. ~'5Im~t
(A) ~~~

(B) ~lj-f~

(C) ~~

(D) ~~

159. Which of the following chordate
character is not shared by non-chordate

(A) Bilateral symmetry

(B) Pharyngeal gill slits

(C) Axial organization

(D) Metamerism

156. 3ig~H13\i1\i1IRl41~ ~ ~ t
(A) ~&4cfiRli®

(B) qt;lcfitti®

(C) inMIQcfitti®

(D) 3icfitti®

(A) ~~~

(B) ~1f1~~

(C) ~~~

(D) ifsr~~

158. f.1C1~f{§tt.q ~ ~ ~ ~ ~ ~
~t?
(A) ~(i;I$ ••ft ~

(B) ~~
"\~"\~(C) ~I «41 ~1I~m

(D) ~~ CfiG3iRAI

159. f.1q~fultt ~ ~~ .q ~ ~ ~-
~ii~~~t?
(A) f~l:jci ftqfqRl
(B) !Aft;ftu ~ ~
(C) .3{~~

(D) R.&O:SlcH~
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160. Which one of the following statements
is correct about the given harmful
insects?

(A) Tse-Tse fly spread kala-azar

(B) Sand fly spreads sleeping sickness

(C) Trichonympha a symbiotic
protozoan is found in the gut of
termite

(D) Pediculus humanus corporis is an
endoparasite

161. Mammals drink water and also obtain
it from-

(A) Breakdown of glycogen into
glucose

(B) Secretion of saliva

(C) Conversion of oxyhaemoglobin to
haemoglobin

(D) Oxidation of glucose

162. Vitamin K is required for

(A) Conversion fibrinogen to fibrin

(B) Conversion prothrombin to
thrombin

(C) Synthesis of prothrombin

(D) Synthesis of Haemoglobin

163. Which of the following is a lactogenic
hormone? .

(A) Prolactin

(B) Oxytocin

(C) FSH

(D) Progesterone

160. f.f ••• f<.tf&tt.q • ~ ~.~ t;If.fSl<
~~~.q~l?

(A) ~-~~q;n;n-~~~

(B) ·~~~~ChHltft~

(C) ~ cit ~ .q ~1$Cb'f.fW;1~
flt;Gfttil silil""jan ~ ~ l

(D) qfg¥"fI ~ (bicURfi~ ~I;ijRCfi
qfifiifll

161. m GlHql~~f't1t1T~'Smf~~

(A) iHI$c6\;i\~ ~ i<tch)gw ..q ~ -« ..~

(B) (WtR~-Q~

(C) .aiTCRf}dhd.~Rt'1~ ~q),,~Rt'1.q
qRqd;t ~ 1ft

(D) "<tcMGI ~ .aiICFEftCfi~uI~ ~

162. Pcillffl'1K cit .ailq~Cfitti~ l
(A) Q:il$~ot);i\'1~ q)1$f~'1~.q

(B) ~~ ~nfiir.fGm.q

(C) ~~~:(~qUI.q

(D) 6'q),,~~'1 ~ ~:(ftqUI .q

163. f.f •••~f&tt.q-Q.m~Cfi~l

(A) silAFck'1
(B) .ai1a:tflil~'1

(C) FSH

(D) sil;ft~T'1
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164. Which one of the following is a
bio-degradable pollutant?

(A) Mercury

(B) Cadmium

(C) Plastic

(D) Domestic sewage

165. All energy of earth is provided by

(A) Sulphur bacteria

(B) Sun

(C) Primary producers

(D) Photosynthesis

166. The phenomenon inwhich a single gene
intluencesmore than one trait is called:

(A) Penetrance

(B) Poly-dactyly

(C) Polyploidy

(D) Pleiotropy

167. Primary consumers are:
•

(A) Omnivorous

(B) Carnivorous

(C) Herbivorous

(D) All the above

. 168. Myelin sheath covers:

(A) Muscles fibre
,

(B) Collagen fibre

(C) Tendon

(D) Nerve fibre

164. f.:r~";f~fuln~~l -q Cfi'~ m ~q

f.h41Ch(urh'l t?
(A) ~
(B) ~gfqtlq

(C) C«11«=lCh
(D) ~~-~

165. ~ift~~~~t I
(A) 1iucn '*lql'13tt ~

•
(B) ~~

(C) ~~~
(D) '5rcfim e~HISjUI ~

I166. ~ qREU;;U,~~~, ~"« ~
~:i\ISjCh cit ~I~~ ~~, Ch~(Oilrilt :
(A) ~

(B)

(C) iSlS1fUl~1

(D) ~<4I~Ic:ft

167. ~Woft~~t:
(A) fiqi~ltl

(B) qifil~ltl

(C) ~IIChI~ltl

(D) 3q:ihti ~

168. qltlWt"11«f ~ t :
(A) ~ ig "Cf))

(B) c61MGt"1 ig"Cf))

(C) cmr"Cf))

(D) ~~"Cf))
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169. ATPis:

(A) An enzyme which brings about
oxidation

(B) 'A hormone

(C) A molecule with high energy
phosphate bond

(D) A protein

170. Poisonous fangs of snakes are modified

(A) Mandible

(B) Nasals

(C) Vomer

(D) Maxillary teeth

171. Retractile claws are found in -

(A) Cat and Lion

(B) Leopard

(C) Hyaene

(D) All the above

172. During which of the following
reactions, ATP is consumed

(A) Glucose ~ Glucose 6 phosphate

(B) Citric acid ~ Isocitric acid

(C) Pyruvic acid ~ Acetyl Co-A

(D) Isocitric acid ~ Cisaconiticacid

169. ~. it Qt. t :
(A) ~ t{;:JtI$q ~ ~ 3't1ct4\CfI(OI

~t
(B) '{{CfI ~

(C) '{{CfI '3\iIi.~ Qil~i! ~ enr '{{CfI

~

(D) '{{CfImiA

170. ~ ~ ~ $ (C\ql;oRdmm t
(A) ~RRtH ~

(B) ~~

(C) ~~

(D) ~fcf:itMtl$~

171. 3't1§'E4;fl~~ ~ ~ t :
(A) ~~m-ij

(B) .~~

(C) HCfI~~~il-ij

(D) "3$~-ij

172. ~-ij~~~if ATPenr~~ .

~

(A) a<tch\"" ~ ~<tcnl"" 6 Qil~i!

(B) ~~ ~ 3't1$fflfll$~CfI~

(C) ql$~Pc4Cf1~ ~ 't~i!M cit - ~
(D) 311~1~q)~ ~ f?4«({cRf.fQ€fi~
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174. Parathormone regulates 174. ~~q;«n~:

(A) Blood Na+/K+ level (A) '{m ~ Na+/K+ ~ «« q;)

(B) Tissue cholestrollevel (B) ~ ~ Cf)TH~(IH «« q;)

(C) Plasma creatine level (C) q;jl\if:il<:l fsb~Q"1«« q;)

(D) Blood Ca" level (D) ~.q Ca" ~ «« q;)

173. Addison disease is due to :

(A) Hyposecretion ofAdrenal gland

(B) Hypersecretion of Adrenal
gland

(C) Hyposecretion of pitutary gland

(D) Hypersecretion of pitutary
gland

173. ~Writnt~:

(A) 0l"1<'1 ~ ~ ~~~Iq ~

(B) ltfl"1<'1 ~~ ~fd~lq~

(C) ~Wi~~~Wq~

(D) ~Wi~~fd~lq~

-175. Motile zygote IS found in the
life-history of

(A) Taenia

(B) Plasmodium

(C) Ascaris

(D) Hirudinea

\
I
i

!
175. ~ ~ $fd~lfI-ij ~-~ ~ 'ffiOT

~?
(A) itf.:P;rr

(B) q;j1'iii1~<:Iq

(C) ~RfI

(D) ij~:tlf.l<:ll

I
1
!•!
f
.r

f
i

176. Tasar silk worm is 176. ~~~~:

(A) Antheraea mylitta (A) ~~ql$~GI

(B) Antheraea assamensis (B) ~~ ~Ifllqmfl

(C) Bombyxmori (C) ~ IfRicmlirtt

(D) Philosamia ricini (D) Q'i1$M\~fq<:l1ftm"1l$

,..,
t.
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177. Which of the following vitamins is not
stored in the body

(A) A

(B) C

(C) D

(D) E

177. f.h"'1~RsId.q ~ ctiR m Rlllf?i"1 -mR .q
\iUsiRd ~ ~ ~ ?

1(A) A

(B) C

(C) D

(D) B

178. The yellow colour. of urine of 178. Ch:n~cQ .q ~ Cf)'f-(rr 'Ifu;n ~ ~
vertebrates is because of

(A) Cholesterol (A) ch)~~~TH ~ CfiroJl

(B) Urochrome (B) q?\sh)q ~ CfiroJl

(C) Uric acid (C) ~~~CfiroJl

(D) Melanin
(D) iIHR"1 ~ CfiroJl

179. How many genes are received by the 179. ~.qftm~~~~~:
offspring from father?

(A) 100%
(A) 100%

(B) 75% (B) 75%

(C) 50% (C) 50%

(D) 25% (D) 25%

(A) ~

(B) ~1~~I~s

(C) RI?:illft

(D) ~(1"1(Wt

180. Which of the following is known as
emergency gland?

(A) Thymus

(B) Thyroid

(C) Pitutary

(D) Adrenal
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181. The correct route through which
Ascaris passes to complete its life
cycle after infecting a fresh host is

(A) Intestine ~ liver ~ heart ~ lung
~ pharynx ~ gullet ~ stomach
~ intestine

(B) Outside ~ intestine ~ liver ~
heart ~ lung ~ pharynx ~. gullet
~ intestine

(C) Intestine ~liver ~ heart ~
lung ~ pharynx ~ gullet ~
stomach ~ intestine ~ outside
~ intestine

(D) Outside ~ intestine ~ liver ~
heart ~ lung ~ pharynx ~ gullet
~ stomach ~ intestine ~
outside

182. The most dangerous metal pollutant
from the automobile exhaust is

(A) Copper

(B) Cadmium

(C) Mercury

(D) Lead

183. Every Natural Reserve is created for
conservation of specific wild life
species Identify the correct pair.

(A) Kaziranga - Elephant

(B) Rann of Kutch - Camel

(C) Gir Forest - Lion

(D) None ofthe above

181. t{4Rft 3tq;{f ~ ~ W ~ ~ ~,
"t{Cfi ~ q)1Sft ~ fiSflf?iH ~ ~ ~ ~

'Q'?f CfiT ~ Cfffifr~, ~ ~

(A) 3ffi:r~~~~'~~~
w;ft 4 f.I.IM~H~ 3i1"U~I~~
3Uo

(B) ~ ~ 3ffi:r~ ~ ~ ~ ~
~T ~ m:r.fi ~ R.IM~I{~ 3Uo

(C) 3ffi:r~~~~~~~
w;ft ~ f.I.IM~H~ 3ilql~ltl ~

3ffi:r~~~3ffi:r

(D) ~ ~ 3ffi:r~ ~ ~ ~ ~
.q;'tfi~ ~ m:r;ft ~ f.I.IM~H~

3tlqlliltl ~ 3tffi ~ ~

182 . ....,G{.II~tt1~ f.tCflM~~ ~ -ij -mm
'(§('tHICfI mg ~ ~

(A) ~

(B) tl:;sf?itlq

(C) 'QTU

(D) m

183. ~ 51lqiff\CfI ~ ~ ~ ~ 'lftq
51\i(Iff\ti1 ~ lR~ ~ ~ ~ \iIffi ~ I
~ -ij~ ~ ~ ~ q~'€IIRl{

(A) CflIGf\(.1I - ~

(B) ~ 'CfIRUT - '3iG

(C) FRcr.:f - m
(D) ~-ij~~~

i
I

i
I
i
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184. Fibrous tissue connecting two bones is
called:

(A) Connective tissue

(B) Tendon

(C) Ligament

(D) Muscles

185. Which one of the following animals is
devoid of cervical vertebrae?

(A) Seal

(B) Snake

(C) Frog

(D) Fish

186. Pigeon milk is secreted by :

(A) Crop gland of both male and
female

(B) Crop gland of only male

(C) Crop gland of only female .

(D) Uropygeal gland

187. Oxyntic cells are located in

(A) Islets of langerhans and secrete
glucagon

(B) Gastric epithelium and secrete
pepsin

(C) Gastric glands and secreteHCI

(D) Kidneys and secrete renin

184.~~W~~.~W
'~l:
(A) ~~

(B) Cfi1JSU

(C) ~

(D) qiflqllfi

185. f.i••••~f(gft SUfiJl<it.q ~ ~ ~ (fiil~q,

~~?

(A) ~

(B) ~

(C) ~

(D) ~

186. ~CliT~~~l:

(A) ~q~~~SliTtfmtl~

(B) ~~~SliTtfmtl~

(C) ~ ~ ~ SIiTtfmtl ~

(D) g:oql$~C4~ mtl ~

187. 3il~(fi Chl~I(filij@.to ~ l :.
(A) H41(~*, ctr f~(fiI3i .q q 4~CfiI411'1

~~~

(B) 3'I1'UIII~~.qq~~

~~

(C) 3'I1qllll~~.qq HCI ~qmft

~

(D) ~.qqw.R~qmft~

TUHAl14 -63- Set-A

mailto:@.to


188. Edward's Syndrome,Patau's Syndrome,
and Down's Syndrome are due to :

(A) Change in sex chromosomes

(B) Change in autosomes

(C) Change in both sex chromosome
and autosome

(D) Mutation due to malnutrition

189. Diastema is

(A) A part of pelvic girdle in rabbit

(B) Space in teeth lines in rabbit

(C) A type of tooth in rabbit

(D) A structure in the eye of rabbit

190. Anticoagulant in the saliva of leech is
known as :

(A) Heparin

(B) Hirudin

(C) Sympathin

(D) Serotonin

188. ~ ffI~¥4, ~ ffI•.jI¥4nmsmm..~¥4
~cnRUT~~?

(A) m~olflJi it qRctJ",
(B) 3ililal41 it qRctJ", ~

(C) m ~Ol~~ C( 3iIGl~41. $IT ~
qf1qJ", ~

(D) ~qOI ~cmur ~~ 3NRctd"l ~

189. gl~~'U ~ :

(A) ~ ctt ~fOliI$MI q;r ~ ~

(B) :mrcn ~ wm ~ "aftT;r ciit~

(C) ~ it ~ '5rcnR ~ ~

(D) ~~~ciit~

190 •• ~ ~ ~. Slfdf<h~ q;) ~ ~ :

(A) ~

(B) ~~{g",

(C) ~

(D) muilf.i",

191. Cerebral malaria is caused by 191. SlQffi:t6CflQHmn ~ ~:

(A) Plasmodium vivax (A) t(Wf1~~¥4 ctl$aCN'f ~
(B)" P.Ovale (B) 'tft.~~ .
(C) P. Falciparum

(C) 'tft. a;Hftq(q ~
(D) P.Malariae .qy. ¥4HW:tI$ ~(D)
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192. Assertion (A) : Outermost layer of
human skin has dead cornified cells.

Reason (R) : Bacteria and other
microbes are to be stopped from
entering freely into the inner tissue.

Select the answer from the codes
given below.

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

•

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

193. Most of the CO2 in blood is carried

(A) Within erythrocytes

(B) Dissolved in plasma

(C) As carbonic acid

(D) In combination with plasma
proteins

194. Insympathetic nerve terminals
neurotran mitters are :

(A) Acetylcholine and cholinesterase

(B) Cholinesterase and adrenaline

(C) Adrenaline and nor adrenaline

(D) Nor-adrenaline and acetylcholine

'192. ~-(A) : ~IIChIf;lfI ~ ~~H1'¥1 C6l
tR.IT~fl

q;roJJ-(R}: ~~:m~~it~
~ ~ ;ileU'1 ~ fl

~~~~~~-m~:
(A) (A) ~ (R) '$IT ~ ~ am (A) l6J

~ WilCh,(UI (R)~I

(B) (A) ~ (R) $U~ ~~ (A)
l6J ~ wilq;,(ul (R) ~ ~I

(C) (A) lffiI ~ ~ (R) ~ ~I

(D) (A)~ ~~ (R)lffiI ~ I

193. m it ~. CO
2
~ ~ \iffift ~

(A)'~:m~~

(B) C("tl:;tql it ~

(C) ChIQlf.:fCh ~ ~ ~ it

(D) C("tl';iiil ~ ~ ~ ~

194. 31jCh.xa~:mit~~~t

(A) . ({mR('1c61~"i~ ctitH\~~""

(B) q)1~~~~ ~ @@t"i

(C) ({Il~@t"i~ -:m-@f(;t"i

(D) -:m ({~f(;t"i ~ ({ml&tc61~"i
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195. Cornea has

(A) Arteries only (A) ~~

(B) Veins only (B) ~fmr(!

(C) Both arteries and veins

(D) Normally no blood vessels

196. Fibrinogen is synthesized in 196. CfiI$m;l\Gt"i«:(~Nd~~ :
•

(A) Liver (A) ~.q

(B) Fibrocytes (B) CfiI$~'E'tI$G.q

(C) Kidney (C) ~.q

(D) Blood (D) ~.q I
I

'"
197. Chordaetendinae are found in 197.cnm-~~~~:

(A) Ventricle of heart (A) ~~~.q

(B) Atria of heart (B) ~~~.q

(C) Joints (C) ~.q

(D) Ventricles of brain (D) q{W&:fi ~ ~.q .

..,
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198. Match list - I with list - II and select the 198. ~ ....I qir~ - II ~ ftqWtd~~
correct answer from the codes given ~~~~~~~'3'm~ :below the lists :

List- I List- II ~-I ~-II

(a) Ophiuroidea 1. Bivium (a) ~I~T~~~I 1. iSll~Pcc~q

(b) Crinoidea 2. Actinostome (b) Gh4T~~~1 2. tfcR:~0q

(c) q~C(H1~c 3. ~"{:GR(c) Madreporite 3. Brittle stars

(d) Ambulacral 4. Featherstars (d) ~&tSfiM 4. ~"{:GR

Code: a b c d ~: a b c d

(A) 1 2 3 4 (A) 1 2 3 4

(B) 2 3 4 1 (B) 2 3 4 1•
(C) 3 4 1 2 (C) 3 4 1 2

(D) 4 1 2 3 (D) 4 1 2 3

199. The cytological event that corresponds
of Mendels law of independent
assortment is seen in

199. cil~lchl~~\iIl~~~ ~qCXW4

~~·~d~cftt.~~~

(A) qCIq,e II-ij

(B) ({41q,e II-ij

(C) ({41q,e I-ij

(D) qCIq,e I-ij

(A) Metaphase II

(B) Anaphase II

(C) Anaphase I

(D) Metaphase I

200. Neurogenic heart is found in 200. ~;iif.ieti ~ mID ~ ~

(A) -m:r ~ -ij

(B) ~-ij

(C) fi\(Oti:4gl-ij

(D) .-ij

(A) King crab

(B) Snail

(C) Cockroach

(D) Leech
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SEAL

INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

(Please use Black ball-point Pen)

1. Method of MarkinK Answers:
To answer a question, please darken one
bubble out ofthe given four, in the OMR
Answer Sheet against that question.

2. Valuation Procedure:
There are four alternative answers to a
question, only one of them is correct. One
mark will be awarded for each correct
answer, if more than one bubble are
darkened for a question, it will be
presumed that the candidate does not know
the correct answer hence, no mark shall
be awarded.

3. Cancellation or ChanKe inJ\pswer :
Itwill not be possible to change the marked
bubble with black ball-point pen; therefore,
correct answer should be carefully chosen
before marking it on QMRAn$wer Sheet.

4. HandinK over of Answer Sheet· to
InviKilator :

(i) Please ensure that all entries in the
answer sheet are filled up properly i.e.
Name, 'Roll No., Signatures,
Question Booklet No. etc.

(ii) CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM AFTER THE
EXAMINATION. '

5. Care in HandlinK the Answer Sheet:
While using answer sheet adequate care
should be taken not to tear or spoil due to
folds or wrinkles and the.impression does
not come behind the Answer sheet.

ifil)(~ Black ball-point V-J ~

1. ~ ..~~~:

~~~~:m.~.3lR. ~~ .q{1k1f."tm
.~~~~~~~.q'G~~~
~~~~I

2.. 'W"IiCfi01~:

~m·~~~~t~·~~··~
~t I'STf.{em~~ ~~-a~~
mRml~·~'G·~~cm~~t
m ~.lJRT ~ ~ 'C('(ta:mffq;) mem~

~'~.~t~~~m~~~1
3. m-rr~~lR~:

~~~~~~~cmliR1iR-a
~~~~rf.roR~.~~,~iPnl
~: "3ffi:q;r.~ ~. ~ lei ~ ~ ~ em
~~Cfitl

4. '3iR~cft~lfiT~.:
0.. ... ,.' _. J " ~ ,

(i) ~q;)3~~ftc"@R ~ ~:ijR~d
~ ~~.~ ~:~ $n ~ ~.~
~fif~t~;..;w:r,.fu;t ~;.;mraR,
m-~Cf)1 CfiT'~, ~ ~

~ ~ i\q;-i\q; m: ~ ~ I

(ii) _~~~~~~

w.r~~~~~1
5. 3·tW(lftG~~.q ~ICltn4t :

3fWtftcem~ ~ ~~~-amqtn;ft
~ I~~, ~~~~-a~~
~~~~~iR-a~CfiT"ffi~.~
~ -a~.~"~' 1914iCfH'ffi{Jtfie:~~

trlTT~~~ I
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